Name:______________________________________
Period:_____

Semester 2 Pre-Test

	1.
	If the volume of a rectangular prism is 420.75 cubic centimeters and the area of the base is 49.5 square centimeters, what is the height of the prism in centimeters? 

A

15.5 cm
B

11.0 cm
C

8.5 cm
D

4.5 cm
G.2
	
	
	4.
	Which letter on the number line below corresponds with -2.5? 

[image: image1.jpg]6543210123456






A

E
B

F
C

G
D

H
NS.6a

	
	
	
	
	
	

	2.
	The table shows the high temperature for 6 days.  Which of the following is the mean absolute deviation for the data set?

High Temperatures

75

58

72

68

69

66

A

4O F
B

4.8O F
C

10O F
D

68O F
SP.5c
	
	
	5.
	What would be the coordinates of a point two units up and 3 units to the left of the origin on a coordinate plane?
A

(2, 3)
B

(3, 2)
C

(2, -3)
D

(-3, 2)
NS.6c

	
	
	
	
	
	

	3.
	The line plot shows the number of minutes Julie practiced for ballet class.  Which of the following statements are true?
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A

The distribution is symmetric
B

The distribution has an outlier
C

The distribution has a peak
D

There are no clusters
SP.5d
	
	
	6.
	Which of following situations would involve data that are best displayed in a box plot?
A
the number of each type of drink a cafeteria sells
B
the response the most people gave to a survey on number of pets
C
the number of points Liam scored in each basketball game this season
D
the median age of a TV show’s viewers
SP.5a



	7.
	At a wedding reception attended by 200 people, the youngest person was 2 years old and the range of ages was 94.

How old was the oldest person at the wedding reception?
A

92
B

94
C

96
D

200
SP.3
	
	
	8.
	The line plot shows the number of television sets owned by the families of various sixth grade students.
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Which statement is true about the line plot?
A

The data is skewed to the left
B

The data is skewed to the right
C

The data is symmetrical
D

There are no clusters
SP.5d


	
	
	
	
	
	

	9.
	The number of games won by chess players is given.

13, 15, 2, 7, 5, 9, 11, 10, 12, 11

Which of the following statements are not supported by the data?

A

Half the players won more than 10.5 games
B

The range of data is 13
C

There are no outliers
D

Only one-fourth of the players won more than 7 games


	
	
	
	
	
	

	10.
	What is the area of a right triangle with legs of length 9 cm and 12 cm and a hypotenuse of length 15 cm? 
[image: image4.jpg]9cm, 2em
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A

36 cm2
B

54 cm2
C

90 cm2
D

108 cm2
G.1


	
	
	
	
	
	

	11.
	A salesman at a music store sold 28 guitars over a four-week period. He sold 10 guitars the first week, 8 guitars the second week, 4 guitars the third week, and 6 guitars the fourth week. 

What is the mean absolute deviation of the number of guitars sold by the salesman during the four weeks? 
A

2
B

3
C

6
D

7
SP.5c

	
	
	12.
	Which value, when graphed on a number line, has the greatest distance from 0?

A

|2|
B

|-3|
C

4
D

5
NS.7c

	
	

	13.
	Keesha and her family visit her grandparents once a month. Keesha recorded the driving time to her grandparents' house for 6 trips in the chart below. 

[image: image5.jpg]Driving Times

Month Time

January |3 hours, 23 minutes
February | 3 hours, 5 minutes
March 3 hours, 50 minutes
April 3 hours, 52 minutes
May 3 hours, 15 minutes
June 3 hours, 35 minutes





Based on the data in the chart, what is the mean driving time to Keesha's grandparents' house? 

A

3 hours, 23 minutes
B

3 hours, 26 minutes
C

3 hours, 30 minutes
D

3 hours, 35 minutes
SP.3



	
	
	
	
	
	

	14.
	The side view of a wall is shown below.

            [image: image6.jpg]4 feet
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What is the area of the wall? 

A

33 ft2
B

115 ft2
C

150 ft2
D

190 ft2
G.1


	
	
	
	
	
	

	
	
	
	
	
	

	15.
	Which of the following sets of data has an interquartile of 10?
A

3, 4, 9, 16, 17, 24, 31
B

12, 14, 17, 19, 19, 20, 21
C

41, 43, 49, 49, 50, 53, 55
D

55, 56, 56, 57, 58, 59, 62

	
	
	16.
	Amy read 6 short stories. Their lengths in pages were 12, 14, 18, 12, 20, and 26. What was the mean (average) length of the 6 stories she read?
A

12 pages
B

13 pages
C

15 pages
D

17 pages
SP.3



	17.
	Tobi works in a print shop. She needs to fit as many rubber stamps into a box as possible. Each rubber stamp is a 1-inch cube. 
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How many more rubber stamps can Tobi fit into Box B than into Box A?
A

1,170
B

648
C

522
D

500
G.2



	18.
	Ronin surveyed 200 students on their favorite type of restaurant.

[image: image8.jpg]RestaurantType | Number of Students
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What type of graph should Ronin use to BEST display his findings?

A

Line plot
B

Circle graph
C

pictograph
D

Bar graph
SP.4

	
	
	
	
	
	

	19.
	Find the measure of center for the set of data.
17, 36, 45, 98, 25, 34, 19, 45, 36

A

mean: 41; median: 36; modes: 45 & 36; outlier: none
B

mean: 41; median: 36; modes: 45 & 36; outliers: 19 & 98
C

mean: 39.4; median: 36; modes: 45 & 36; outlier: 98
D

mean: 41; median: 36; modes: 45; outlier: 98
SP.5a


	
	
	
	
	
	

	20.
	Order the set {-5, 3, 2, -7} from greatest to least.
A

-7, -5, 3, 2
B

-7, -5, 2, 3
C

2, 3, -5, -7
D

3, 2, -5, -7
NS.7a

	
	
	21.
	If x = -2 and y = 2, then which of the following statements is false?
A

|x| > 1
B

|x| = |y|
C

|y| < 1
D

|x| = y
NS.7d

	
	
	
	
	
	

	22.
	Look at the quadrilateral below. 

[image: image9.jpg]



What is the area of the figure? 

A

14 m2
B

28 m2
C

34 m2
D

42 m2
G.1


	
	

	23.
	The box plot at the right shows the amount of money, in dollars, Olivia saved during various months.

[image: image10.jpg]Amount Saved ($)
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Which of the following statements is false?

A

The distribution is symmetric.
B

The distribution is not symmetric.
C

The distribution has an outlier.
D

The distribution has a gap of data.
SP.5d


	
	
	
	
	
	

	24.
	The location of a cellular phone tower is shown on this coordinate plane. 
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Each unit represents 0.5 mile.
The phone company is building another tower 2.5 miles away. At which point could the new cellular phone tower be located?
A

(3, 5)
B

(7, 3)
C

(8, 2)
D

(9, 4)
NS.6c


	
	
	
	
	
	

	25.
	The box-and-whisker plot shown below represents the heights, in inches, of the members of the Central High School girls' basketball team. 
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What is the median height of the members of the team? 


A

67 inches
B

68 inches
C

69 inches
D

70 inches
SP.2


	
	
	
	
	
	

	26.
	The box plot shows the ages of U.S. vice presidents when they took office.  Half of the presidents were over what age when they took office.
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A

36 years old
B

49 years old
C

53 years old
D

72 years old
SP.5b


	
	
	
	
	
	

	27.
	A new bakery is handing out cake samples at the mall. Each cake is in the shape of a rectangular prism with the dimensions shown.

[image: image35.jpg]
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The bakery will serve 
[image: image15.wmf]1

2

-inch cubes of cake as samples. How many 
[image: image16.wmf]1

2

-inch cubes can be made with one cake?

A

144 samples
B

178 samples
C

288 samples
D

357 samples
G.2


	
	
	
	
	
	

	28.
	Zahra needs to paint the top and the sides of a treasure chest box. She does not need to paint the bottom of the treasure chest box. The dimensions of the treasure chest box are shown in inches.

            [image: image17.jpg]Treasure Chest Box
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What is the total surface area that Zahra needs to paint? Round your answer to the nearest whole number. 

A

287 in2
B

390 in2
C

505 in2
D

717 in2
G.4


	
	
	
	
	
	

	29.
	Determine which are questions are statistical questions.
I
How many words are in this sentence?

II
How old are my friends’ parents?

III
What is the shoe sizes of the students that ride my bus?

IV
What is your favorite color?

A

I & II
B

II & III
C

III & IV
D

I & IV
SP.1



	30.
	Cosmic Bowling Center has 100 bowling balls, and their weights range from 8 through 16 pounds. The frequency table below shows the number of balls by weight.

[image: image18.jpg]Number of Bowling Balls by Weight
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What is the median weight per ball for the 100 bowling balls? 

A

11 pounds
B

12 pounds
C

13 pounds
D

14 pounds
SP.5c

	
	
	
	
	
	

	
	
	
	
	
	

	31.
	The box for the jungle animal figurines is in the shape of a triangular prism. What is the surface area of the box?

[image: image36.jpg]



A

163 in2
B

223 in2
C

258 in2
D

280 in2
G.4

	
	
	
	
	
	


	32.
	Construction workers need to dig a hole 10 feet deep in a location where there is a pile of dirt. The top of the dirt pile is 10 feet above ground level, as shown in the diagram.

[image: image19.jpg]10
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Which statement about these two measures is true?

A

They are equal numbers because –(10) = 10
B

They are equal numbers because –(-10) = -10
C

They are opposite numbers because –(-10) = 10
D

They are opposite numbers because –(-10) = -10
NS.6a

	
	
	
	
	
	

	33.
	What are the coordinates of 
B(-0.5, 2) after it is reflected across the y-axis?
A

(0.5, -2)
B

(-0.5, -2)
C

(2, -0.5)
D

(0.5, 2)
NS.6b
	
	
	34.
	The table shows the average normal January temperature of four cities in Alaska.
City
Temperature (˚F)
Anchorage

-15

Barrow

–13
Fairbanks

–10
Juneau

-24

Which Alaskan city has the highest temperature?

A

Anchorage
B

Barrow
C

Fairbanks
D

Juneau
NS.7b


	
	
	
	
	
	

	35.
	The diagram shows three ants crawling on a tree. The number line shows the distance, in feet, that the ants are from the ground level.
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Which statement correctly compares the locations of the ants?

A

Ant P is the closest to ground level
B

Ant R is farthest from ground level
C

Ant R is closer to ground level than Ant P
D

Ant Q is closer to Ant R than it is to ground level
NS.7C


	
	

	36.
	Potter’s Puzzles sells a wooden pyramid puzzle. The base is a square with side lengths of 6 inches. The slant height is 10 inches. What is the surface area of the puzzle?


A

132 square inches
B

156 square inches
C

252 square inches
D

276 square inches
G.4



	
	
	
	
	
	

	37.
	Chi graphed a rectangle with a vertex in each quadrant of the coordinate plane. The length of the rectangle is 8 units and the width is 5 units. Which set of ordered pairs could be vertices of Chi’s rectangle?
A

(3, 2), (3,-3), (11,-3), (11, 2)
B

(3, 2), (3,-3), (-11,-3), (11, 2)
C

(3, 2), (-5, 2), (-5, -3), (3,-3)
D

(3, 2), (3, 3), (-5, 3), (-5, 2)
G.3

	
	
	38.
	What are the coordinates of Y’ after Y(-3.5, 5) is reflected across the x-axis?
A

(3.5, -5)
B

(-3.5, -5)
C

(5, -3.5)
D

(3.5, 5)
NS.6b


	
	

	39.
	Sam listed his scores from history class. 

84, 86, 83, 78, 92, 87, 92, 90, 88, 86 

Which line plot correctly displays his scores?
A
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B
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C
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D
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SP.4


	40.
	Students at Pebblebrook High School are required to complete a certain amount of volunteer hours in order to graduate.  Some students decided to volunteer at an area hospital.  The chart shows the number of hours each student had volunteered.
[image: image25.jpg]Hospital Y olunteer Hours

Name Hours Worked
Jan 104
Amy 98
Tom 120
Chris 105
Stephanie 102





What is the median number of hours these students worked?
A

120
B

104
C

103
D

100
SP.5c


	
	
	
	
	
	

	41.
	The following map is of the Alger Underwater Preserve in Lake Superior.
[image: image26.jpg]Lake Superior

Superior

Bermuda

r~Manhattan
Smith Moore

ising

# Shipwrecks




What is the ordered pair and quadrant that represents the location of the Bermuda?
A

(-2, -1); Quadrant III
B

(- 1, -2); Quadrant II
C

(2, 1); Quadrant III
D

(1, 2,); Quadrant II
NS.8


	
	
	
	
	
	

	42.
	Right triangle ABC has an area of 45 square units. Two of the three vertices are shown on the coordinate plane.

[image: image27.jpg]8







Which coordinates could represent the location of vertex C ?

A

(8, -6)
B

(8, -3)
C

(3, -6)
D

(3, -3)
G.3

	
	
	
	
	
	


	43.
	The chart below shows the heights of 13 players on a women's basketball team. 

[image: image28.jpg]Basketball Team
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If a player whose height is 6 feet 6 inches joined the team, which of the following statistical measures of players' heights would not change? 

A

Mean
B

Median
C

Mode
D

range
SP.5b

	44.
	Which point is located at (-2, -4)

[image: image29.jpg]




A

Point R
B

Point S
C

Point T
D

Point U
NS.6c


	45.
	Coach Wilson is buying baseball bats for his team. He checked prices at several stores. 
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Which of the following best shows the data?
A
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C
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B
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D
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